CHAPTER 3 Functions and Their Graphs

3.1 Concepts and Vv 9
P ocabulary (page 229) 13. False 14. False

5. independent; dependent 6. range 7. [0,5] 8. #:f;g 9. (g -

3.1 Exercises (page 229)

15. Function; Domain: {Dad, Colleen, Kaleigh, Marissa}, Range: {January 8, March 15, September 17y

16. Function; Domain: {Bob, Dave, John, Chuck |: Range: { Beth, Diane, Linda, Marcia}  17. Not a function

18. Function: Domain: { Bob, Dave, John. Chuck}; Range: { Diane, Linda, Marcia} 19, Not a function

20. Function; Domain: {~2, -1, 3, 4} Range: {3.5,7,12} 21 Function; Domain: {1,2.3, 4}; Range: {3}

22. Function; Domain: {0, 1, 2, 3}, Range: {-2,3,7} 23. Notafunction 24. Nota function

25. Function: Domain: {-2, -1, 0, 1}. Range: {0,1,4} 26, Function; Domain: {~2, —1, 0, 1}, Range: {3,4,16}
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35, Function 36. Function 37. Function 38. Function 39, Nota function 40, Not a function 41. Not a function
#. Alireal numbers  50. All real numbers 5L {xix # —4.x #4} 52, {x|x # -2, x #2} 53. {x|x # 0}
5, {xx# -2, x# 0,x#2} 55 {x|x=4} 56, {x|x=1} 57 {x|x >9} 58. [x|x > 4} 59, {x|lx > 1} 60. {x|x = -2}
6L (a) (f + g)(x) = 5x + L;Allreal numbers (b) (f — g)(x) = x + 7; All real numbers
5 f 3 3
(¢) (f-g)(x) = 6x° — x — 12; All real numbers (d) (L J{,\-) = _:—‘ ' J-_{[I‘I 2 2
8/ x =3 2

62 (0 (f + g)(x) = 5x = L;Allreal numbers (b) (f — g)(x) = —x + 3; All real numbers

(¢ (f-g)(x) = 6x* = x — 2;All real numbers (d) (I-)(,\') = £ 1: {-"if # 21
g 3x — 2 3)
6 (@) (f + g)(x) = 2x? + x ~ L;All real numbers (b) (f — 2)(x) = =2x* + x — 1;All real numbers
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£2. Nota function 43. Function 44. Function d45. Nota function 46. Nota function 47. All real numbers 48. All real numbers

=(r)




AN26 ANSWERS 3.1 Exercises
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83 A = Sundefinedaty =3 84 A=18=2 85 A(x)=5x" 86 A(x) =5x 87 Glx) = 10x 88 Gx) =100 + 10x
89, (@) 150 m, 1407 m. 1294 m, 11.72m (b) 101 sec, 143 scc. 175 sec (€) 2.02sec 90, (a) 7m,4.27 m, 1.28 m
(b) 062 sec. 088 sec, 1.07sec (e} 1.24sec 9L (@) $222 (b) $225 (¢) $220 (d) $230 92. (a) 1260 (b) LTI () 199
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93, R(x) P(x) 04, T(x) = V(x) + P(x) 95. H(x) = P(x)-I(x) 96 N(x)=1I(x)— T(x) 97. Onlyh(x) = 2x

98. No:/ has a domain of all real numbers, while g has a domain of {x|x # ~1},




